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401 Al HI Y 201

i

= H W

634,650
313,291

96,409
224,950

338,602

296,048

01 A& H

OZH= (4, 52) X8 (15ha)

OZH=(2US)xE(18ha)

O&H& THoH 2 X1 & & (50ha)

03 Al 2CHH]

OZH=(£,82)

P

g S0l

40,504,000 x98.92%

= HnH

34,176,000 *98.92%

= HnH

116,670,000 *99. 28%

= H W

443,300,000& *99.28%

= N W

629,813

40,067

26,809
4,109
9,149

33,807

6,497
8,304
19,006

115,830

58,335
17,501
39,994
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221,650
66,495
151,964
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335,739

2,863
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OMSH2t ASKIAAL (1HA) 150, 137
= 105,096
= 13,512
Al 31,529
SEHI 25 AHY 14,715,050 12,792,500 1,922,550
= 7,003,050
= 1,400,000
Al 6,312,000
202 048 1,200 1,200 0
2 1,200
01 2UH0i b 1,200 1,200 0
OS2 B5HS 1,200
2 1,200
301 BB A 1,850 1,300 550
2 1,850
EPIEE 1,850 1,300 550
OMSH2 ASAARK 1,850
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401 Al 2B 2O b 14,712,000 12,778,000 1,934,000
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AP ASTIRAIY 94,500 164,814 A70,314
402 212 XH2 01 & 94,500 164,814 A70,314
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6,300, 00021 30 *50% 94,500
SR AY| (D) 55, 141 49,886 5,255
oIz 2oy (A2 ) 21,907 20, 146 1,781
oIz 22| (A2 ) 21,907 20, 146 1,781
101 2121t 21,927 20, 146 1,781
03 RI|HA22 T2 4 21,907 20, 146 1,781
O 8% 22(1%) 21,330
ez 902,880% 128 10,835
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